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Note: 1) Answer any five questions.
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ii) All questions carry equal marks.
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iii) In case of any doubt or dispute the English version

question should be treated as final.
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a) Find a positive root of the equation by iteration method
7
3 X = COSX + 1.
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b) Using Lagrange’s interpolation formula, find y(6) from
the following data: 7
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parts using
i} Trapezoidal rule !

1) Simpson's 1/3 rule
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b) Using Gauss-Seidel iteration method to solve the system.
7
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10x+y+z=12,2x+ 10p+z= 13, 2x + 2p + 10z = 14.
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3. a) Given that Sin45 = 0.7071, Sin50 = 0.7660, SinS5 =
0.8192, Sin60 = 0.8660. Then find the Sin58 by using
Newton's backward interpolation formula. 7
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Using Simpson's 3/8 rule, evaluate Iﬂ ] by dividing

+x°
the range into 6 equal parts. 7
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: dy .
4. Given pria *5in y and y(0) = 1. Compute (0.2) and {(0.4)

with 4 = 0.2 using Euler'g modified method. 14
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5. a) Using Laplace TransformsEvaluate I:
7
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6. Using Laplace Transform, Solve (D2+2D +5)y=¢' silil:'i
given that (0) =0, »'(0) = 1. | !
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7. a) 20% of items produced from 5 factory are defective. Find

b)

b)

the probability that in'@ Sample o § chosen at randomn 7
i) None is Defective '
ii) One is Dcfective
i) P(1 <x <4).
U PIRA ¥ I FRG3H a1 200, Yt 31 A
IS a‘;qﬂﬁqmﬁ?ﬁmﬁﬁiﬁﬁﬂm
i) g ot gl A 2
i) U qreyol &
iii) P(1 <x <4) ‘
If a random variable ha-g a Poisson distribution such that
P(1) = P(2). Find out : 7
i) Mean of the distribution '
i) P(x=1)
i) P(1 <x<4) _
gfs st a1gfRseh aX T Poisson distribution $9 R 8
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i) P(x=1) .
iii) P(1 <x < 4)

-
&

Derive Mean of the Normal Distribution.
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Using Runge-Kutta method of fourth order solve y'=xy,
YD) =2atx=12 with s = 0.2. 7
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